HA.

After the weight stops (just as it touches the water), it
again moves upward. If air drag and energy losses in the cord are
negligible, the weight comes all the way back up to the edge of the
railing where it again stops. Thus, in this idealization, the motion
of the weight is periodic! Let z{!) be the height of the weighs
above the water. Sketch belew z(t) for one period. Indicate the
nature of the motien for various parts of the sketch, (You may
find it helpful to answer parts d and e below before making the

sketch.)
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